Chemistry Aptitude Test - 2021

Stage - II (For Clansn : X)
Fudl Mﬂﬂuﬁ’i() Timne allowed @ 1.20) nirs
Instructions:  Answer a'llttmqu«.-;tiwm There are 201400 (1-20) in Georrs

A having 1 mark cach. 0.25 mark will be deducted for virong znomers. Gron
contains 10 questions (31-40) having 2 marys each,

WY

Group-A 13030

of Kl 'and Pb (NO;), ?

KI @3¢ Pb(NO;), 7 R @ s eR m T o 2
(a) Lead iodide ((5TC HATEZE)

(b) Potassium nitrate (#{5if<ara '"I"Tfﬁ')

(c) Lead oxide (5T THZT)

(d) Metallic lead (4193 (5T©)

2. PQ+RS—PS+RQ
The type of this chemical reaction is —
fRferafoa e -

(a) Double displacement (f2-2f€z197)
(b) Displacement (2f$%1#)

(c) Combination (FIRTIE)

(d) Decomposition (RtarE")

3.  The colour of methyl orange in CH,COONa solution is —

GRS SOIFTEE ¥ fiRe e 3+ == -
(a) Blue (1) (b) Green (3i3X)
(c) Red (&7r) (d) Yellow (ZER)
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4. Which one is not an Arrhenius acid ?
IR SFTfaeT e 7 ?
- (a) HCl (aq) (S HC) (b) Vinegar (f&fsit)
(c) Acetylene (SUIAbRE) (d) ‘HCIO,

5. ° Which of the following contains least number of atoms ?
AR T CFT AT AR TG I 2
(a) 4 g Carbon (4 2 F1E)
(b) 1 g Hydrogen (1 &< 230GITS)
(c) 5 gAluminjum (5 &1 SHiERII)
(d) 2 g Sodium (2 &t GHfAN)

6.  The indicator which can be used to test the pH of neutral solution—
A I pH et Iz 33t 17 -
. (a) methyl orange (23 *t7g)
(b) Red litmus (=i fi5ae)
(c) Universal indicator (&= o)
(d) Phenolphthalein (FTEiifem)

7.  The metal extracted ﬁ'om galena is —

SUITEI (AT (T 4G Frtae! 31 27 ot = -
(a) Fe (b) Sn
(c) Pb 4 (d) Ag

8.  Element X forms an amphoteric oxide of formula X,0,, produces
H, gas on reaction with both acid and base. The element js —

o CTIET X b Bl wraiRe X0, o185 3711 et wuifirs e
I SR A Rida H, Mo 30| ces 2 -

(a) Ca ®) S
(©) Mg (d) Al
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10.

11.

12.

The chemical process used to extract Al metal from bauxite is —
IHRD (U Al N9 @ TS eltantal 1 21 o) 227 -

(a) Electrolytic reduction (Yﬁﬁo‘% Reaet)

(b) Selfreduction (FesfRwize)

(¢) Carbon reduction (14 &)

(d) Thermit process (136 AR(S)

Which compound forms on heating of NH,CNO ?

NH,CNO & Ta e 3T i (sl tof = 2

(a) N, | (b) /ﬁ\

(c) CO(NHy), (d) Co,
Select the wrong statement.
oo el oo wa-

(a) Metallic character decreases from left to right along a period
(o TRRE CHHT ol 41O 45f et ZI%T i)

(b) Basic character of oxides increases from top to bottom in a
group. (I 7217 fics= ez CANTST SRRTSH ! 3 «iim)

(c) Helium is most unstable element (RN S Tﬁaﬁ )]

(d) Fluorine is most electronegative element (Qﬂﬁ'ﬁ WW@Q
T G ot

Tooth enamel is made up of —

| VISR T Cofd = -
~ (a) Calcium phosphate (IS F9CFS)

(b) Calcium carbonate (ITERAN FILCHB)
(c) Calcium oxide (FEFIAT SFBG)
(d) Calcium oxalate (IFETFIN SRHICHAT)
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13.

14,

15.

16.

17.

18.

An aqueous solution turns red litmus blue. Excess addition of which

would reverse the change ?

3 SR G e AT Mot I | N A @ At e
TACE I ARIET ST TR TA 7

(a) Baking powder (AR #iCew)

(b) Hydrochloric acid (ZRtgiizz =0if1e)

(c) Lime () '

(d) Ammonium hydroxide (ST ZBGHEE)

Which anhydrous salt turns blue on addition of water ?

(RIS TSR S5 T e Clol eI e 7 2

(a) FeSO, (b) CuSO,

(c) MgSO, - (d znSO,

Brine is concentrated aqueous solution of —

(a) CuSO L (b) CaCl,

(c) Mg(OH), . (d) NaCl

Which of the following is neutral flux ?

BT D 2o Rstieres 2

(a) N33A1F6 (b) Si02

(c) CaO (d) MgO

Which of the following on very strong heating will leave no residue?
(PO STSI et e caotey SR APt 2

(@) Coal (37e) (b) Iron (=TRY)

(c) Diamond (%) (d) Pyrite (+ii22i25)
Which mixture on heating produces a fruity smel] ?
TR FRABUE Be et e s <At 2y 2

(a) CH,COOH +H,S0 ++C,H.OH
(b) HCI+H,S0,+C,H.0H
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19.

- 20.

21.

22.

(c) HNO, +H,S0, + C,H,0H
(d) H,PO, +H,SO, + C,H,OH

Which of the following compound is used as a refrigerant ?

ot Rtz Rvsw ot ez wat a2
(@) CH, " .(b) CH,
“(¢) CFCL . (d) CHCL
Ccoy _ethanol+KOH o .
N G g
Br Br : '
(8) CH, e (b) CH,
(c) CH, : d CH,
Complete combustion: of a hydrocarbon gives —
@ CO+HO . . (b CO,+HO
© CO+H, (@ CO+H,
Which one of the foll'ow'ing' is correct order of atomic radii ?
(a) O<F<N o (b) N<F<O
(c) O<N<F = (d) F<O<N .

23.

24,

Which is the atomic number of an element that forms basic oxide ?

3 GNET HAT SHZC (O I OF ATNY FIE TS ¢

(a) 18 (b) 17

(c) 15 (d) 19

Which metal does not react with cold water as well as hot water ?
I 4SS 212w @ et TTera AT R arzan »

() Ag (b) Na

(c) Ca (d) Mg
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25.  Analkane should have how many carbon atoms to show isomerism?
ANTAS! ST Sy I ST (N 3104 T[T s 1ot #(z7ant
TR ? | |
(a) Three (f$7) (b) Four (519)

(c) Five (5i5) (d) Six (5%)

26.  Theelectronic configuration of element M is 2, 8, 4. Inmodern periodic

table the element is placed in which group ?
M GNAoR TeTg= R 21 2, 8, 4. Siyfass »RffTemafats cnafs o
ifre witg 2
(a) 4 (b) 2
(c) 14 d) 16
27. Which of the following is alkali metal ?
(a) Na | (b) Mg
(c) F (d N

28.  Which compound on héating gives brown gas ?
@ AT Tee T Imif sy tofi 2w 2
(a) CaCoO, ' (b) Al(OH),
(c) CaCl, (d) pb(NOy),

29.  Which of the following reaction is an example where two gasses
reacts to form a solid ? -
frea cm et it st fifdmm 3w et ol 2 9
(a) C+S (b) NH, + HCI
(c) CaCO,+HCI (d) NaQH + HCl

30. . Which compound declourises bromine water ?

A I @IS e 3 v(fad 307 2

(a) C,H, (b) CH,

(c) CH, (d) CH,0H
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3.

Group-B 2%10=20

A metal M forms a water soluble salt MNO,. Aqueous sol ution of
MNO, produces a white precipitate with NaCl solution. The metal
M is the most efficient conductor of elecfricity. Write down
@) Thenameof M (i) The name of the white precipitate.
<% 41 M ST ARy MNO, 579 (S 9 | MNO, i et & NaCl

: mﬁﬂmﬂmmmwmﬂt@ﬁmmwm

32.

33.

'34.

35.

36.

- acid. Using these how can you distinguis

FROGTH BeFe AR |

) M Qg2 TR | (i) TRt SRETRTAT I 7| 1+1

You are provided with lime water and a match box and hydrochloric

h between Zn metal and

Na2C03? | .
(SIRITE 51 T, ORI TR PGSR I (e TR | A8TET
2 I Zn 4@ €k Na, CO, <5 F0g Freita <114 0 ¢

Calculate the number of protons in 1.6 g of CH,.

1.6, g CH, <& g F6 (A6 BICR ?

Which one between C,H, and C;H,, burns with a more sooty flame
and why 7 . | :

6 712

- CH, &R CH,, & T e 3 et P e ¢

Mention two importances of Mendeleev’s periodic table.
st oRffmE i Setairet @ |

Write down the [IUPAC name of CH,~COOH

CH, COOH (Rt IUPAC #1&fSTS 1 714 |

Write down the structural formula of ethylene. =
it [ Page7.0f8] .
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37 Li, Na, K belongs to Doberinar’s triad. Atomic weight of Liig

il

Atomic weight of Na is 23. What is the atomic weight of K

L Li NaK@mﬁﬂmaﬁlcﬁﬁﬂleName«m7
8 23 FA K G ARART S T ?

38.

Write down the différence of calcination and roasting.

£ Ol @ SN0 N0 A1y @ |

39.

A solution have a pH of 8. What 'will be the change in pH on additiop
of water. Explain.

: ﬁﬁWpH&WCﬂTﬁW.pHﬂﬁﬁ?mmlq}T‘mWI

What will be the colour of methyl orange when added to NH,CI
solution, explaln

NH,Cl uﬂﬁ@ﬁtxwﬁmmmﬁwwﬁﬁs A7)
T =14 |
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